
S7 (mod 2)

blocks defect matrix

2.G : 1 5 15× 3
2 4 8× 2

6.G : 3 4 8× 2
4 1 2× 1
5 1 2× 1

Block 1: ϕ1,0 ϕ5,0 ϕ6,0

11 = χ1,0 1 . .
12 = χ1,1 1 . .
141 = χ5,0 . 1 .
142 = χ5,1 . 1 .
151 = χ7,0 1 1 .
152 = χ7,1 1 1 .
211 = χ8,0 1 . 1
212 = χ8,1 1 . 1
351 = χ9,0 1 1 1
352 = χ9,1 1 1 1

281 = χ12+ . 2 .
202 = χ14,0 . . 1
203 = χ14,1 . . 1
361 = χ16,0 2 1 1
362 = χ16,1 2 1 1

ϕ1,0 = 11
ϕ5,0 = 141
ϕ6,0 = 201

Block 2: ϕ2+ ϕ4,0

61 = χ2,0 . 1
62 = χ2,1 . 1
201 = χ3+ 1 2
143 = χ6,0 1 1
144 = χ6,1 1 1

81 = χ10+ 1 .
204 = χ15,0 1 2
205 = χ15,1 1 2

ϕ2+ = 81
ϕ4,0 = 61



Block 3: ϕ7+ ϕ8+

121 = χ17+ 1 .
301 = χ18+ . 1
302 = χ19+ . 1
421 = χ20+ 1 1
422 = χ21+ 1 1

122 = χ24+ 1 .
123 = χ25+ 1 .
721 = χ28+ 1 2

ϕ7+ = 121
ϕ8+ = 301

Blocks 4, 5: ϕ9+

481 = χ22+ 1

483 = χ26+ 1

ϕ9+ = 481

Block 5: ϕ10+

482 = χ23+ 1

484 = χ27+ 1

ϕ10+ = 482


